XAXFR(UBER)

Tl 4B 2 KEBIBHEKAKRFRFEXLREE) . Tl tm s = 2K =K
o RSB KARF HKIBRR - A (* 1) S | e KAF Fo ok (S50 H) HER o RASE | EREL g - pRiizs
? JR K JR 7K Rk & BER(1) N=n
EKEHHB R6.6.6 R6.9.5 R6.12.5 R7.3.6 R6.7.9 R6.8.6 R6.11.27 R6.7.9 R6.4.16 R6.5.8 R6.6.4 R6.7.9 R6.8.6 R6.9.11 F§‘66'1100'125 R6.115 | R6.12.3 R7.1.7 R7.2.5 R7.35 ®=AKERH R6.6.6 R6.7.9
EKEEFZI 9:50 9:40 9:35 10:20 10:50 10:47 10:58 11:18 11:40 10:02 13:05 12:48 11:45 13:32| 11:00{ 12:05 9:36 12:33 9:40 13:05 12:24 EKEZI 9:50] 10:50
Kix BEh =Y B /= BEh BEh B Eh B £ Bh Bh Bh Bh| Bh| Bh Bh BEh £ Eh 55 Kix Eh BEh
Sim (°C) 23.9 27.0 12.0 11.1 32.0 30.9 15.5 32.0 24.0 20.5 23.0 33.8 31.9 320 298| 26.0 17.0 19.0 9.5 10.0 8.5 il (C) 23.9 32.0
Kig (°C) 21.0 27.0 12.7 10.3 21.6 27.6 18.0) 225 15.2 18.0 21.2 245 28.5 27.2| 265] 24.8 21.2 17.0 12.0 115 11.5 Kig (°C) 21.0] 21.6
=] 0 0 0 0 2 1001E LLF 0 0 0 0 0 0 0 0 0 0 0 0 1[1.3->4/oo070R(D-D) 0.05 HEaE <0.0005 <0.0002
2| KIGE TE| At Tt THd [E1ES BRHEINAN & [=4k3 [=4kd [=4kd =4k PET (£33 (£33 [={k3 [=4kd [=4kd =4kd I 2|2,2-DPA (4'5%°Y) 0.08 BREF <0.001 -
3|IWFEDLRUZDEEY <0.0003| <0.0003] <0.0003] <0.0003 <0.0003 0.003LLF <0.0003 3|2,4-D (2,4-PA) 0.02 BB <0.0002 -
4[KERVZDILED <0.00005| <0.00005] <0.00005| <0.00005] <0.00005 0.0005LLF <0.00005 4|EPN 0.004 HEE <0.00004]  <0.00005
5| LU RUOZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 5|MCPA 0.005 IRELH <0.00005 <0.0003
6|5 RUZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 VEEEIA 0.9 BB <0.009 <0.009
IIERZRUVZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 N7+E7z—k 0.006 xR <0.00006 <0.0008
8|y LEEY <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 8l7hSUY 0.01 BREA <0.0001 -
o|HAHEREE R <0.004 <0.004 <0.004 <0.004 <0.004 0.04LLF <0.004 9l7=nokR 0.003 BREH <0.00004 -
10( 7 eAA R UEIES T <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 10[72r5X 0.006 R E <0.00006 -
1|EREZERRVFHEHBERR 0.57 0.64 0.78 0.44 <0.2 10LLF 0.30 11{7590—L 0.03 BRE A <0.0003 -
12[09FRUVZDIEEY 0.08 0.08 <0.08 0.09 <0.08 0.8LLF <0.08 12(4vF9F4 0.005 B E <0.00005 <0.0003
13[E3FRRUVEZDEEY <0.1 <0.1 <0.1 <0.1 <0.1 10T <0.1 13[4V 7z kR 0.001 3% B <0.00004 -
14| Mg 1L ik FR <0.0002| <0.0002] <0.0002[ <0.0002 <0.0002 0.002LLF <0.0002 14|47 oAH LT (MIPC) 0.01 3% R <0.0001 -
15(14-OF %52 <0.005 <0.005 <0.005 <0.005 <0.005 0.05LLF <0.005 15(4v70F45> UPT) 0.3 REF <0.003 <0.003
16 :;/1-(2_1/2?5,'7],:,1 ; IL/;SZU <0.004 <0.004 <0.004 <0.004 <0.002 0.04LLF <0.002 16|4F2zohILNT Y 0.002 (2381 <0.0001 -
17|oo0044> <0.002 <0.002 <0.002 <0.002 <0.001 0.02LLF <0.001 17|47~ HRX (IBP) 0.09 FEA <0.0009 <0.0009
18|75/ 00TFLY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 18|43 /9420 0.006 REF <0.001] <0.00006

& |19k YOATIFLY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 19|45 /070 0.009 BREH <0.00009 -

= | 20[RoE> <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 20|TXTOAILT 0.03 BREF <0.0003 -
21|18 R/ HE 0.07 0.07 0.06 <0.06 0.6LLTF <0.06 0.08 <0.06 <0.06 21|Thoz7Aavs R 0.08 3% R <0.0008 <0.0008
22|V O OEEEE <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 22| TURZR L T7U(A VY IEY) 0.01 3% R <0.0001 -

# | 23 oAkl Ls 0.014 0.017 0.010 0.006 0.06LLF 0.015 0.020 0.013 0.006 23|AFHTHOAKRY 0.02 BREH <0.0002 <0.0002
24|V OO EERE <0.002 <0.002 <0.002 <0.002 0.03LLF <0.002 <0.002 <0.002 <0.002 24| A SR(H H#EER) 0.03 HEH <0.0003 <0.0003
2570 s00A2Y 0.005 0.006 0.005 0.005 0.1LLF 0.007 0.010 0.005 0.007 25|41y ZRkOE Y 0.1 BEH <0.001 -
26| R R <0.001 0.001 <0.001 <0.001 0.01LLF <0.001 0.002 <0.001 <0.001 26| H X YRR 0.0006 P <0.00004 -

g |27 NP 0.027 0.031 0.022 0.018 01T 0.032 0.043 0.026 0.022 27|A7zoZkO—)L 0.008 BREH <0.00008 -
28|~ /O OBEER <0.003 <0.003 <0.003 <0.003 0.03LLF 0.002 <0.002 <0.002 <0.002 28| AL YT 0.08 HHE <0.0008 <0003
2|2 0FETH/OOAE 0.007 0.008 0.006 0.005 0.03LLF 0.009 0.011 0.007 0.007 29[AJL731) JLINAC) 0.02 R E <0.0002 <0.0003
N PIEEL A 0.001 <0.001 0.001 0.002 0.09LLF 0.001 0.002 0.001 0.002 30|AILRISY 0.005 3% Rl <0.00001 -

g 3 HRILLTILTER <0.008 <0.008 <0.008 <0.008 0.08LL'F <0.008 <0.008 <0.008 <0.008 31|¥ /9532 (ACN) 0.005 BREF <0.00005 -
2| FMRVZDELEY <0.005 <0.005 <0.005 <0.005 <0.01 1.0LLF <0.01 32[F¥THY 0.3 REF <0.003 <0.003
B|ZIE=ZDLEBRUVZDIEEY 0.01 0.02 0.02 0.01 <0.02 0.2LLF <0.02 33|/ oy 0.03 BREH <0.0003 -
UHERUVZDIEEY <0.03 <0.03 <0.03 <0.03 0.07 0.01 0.3LLF <0.01 34|57 V)= —k 2 BREH <0.02 <0.02
B|FHEVZDIEEY <0.01 <0.01 <0.01 <0.01 <0.01 1.0LLF <0.01 35|45 Lk R—k 0.02 BREH <0.002 <0.0002
6|FRIDVLRUVZDILEY 22.3 19.9 19.0 30.7 95 200LLF 16.0 36|yoA7av7 0.02 BREH <0.0002 -
37|RVAVERUZEDIEEY <0.001 <0.001 <0.001 <0.001 0.021 <.005 0.05LLF <0.005 37|%0)L=rO x> (CNP) 0.0001 BREH <0.00004 -
38|E LA A > 15.3 16.3 15.7 19.7 9.0 200LLF 15 15 16 14 17 16 14 15 16 15 17 17 38[yoLEYHRR 0.003 xR <0.00004 <0.0002
AL DL, TR LE (FEE) 84 72 89 120 69 300LLF 93 100 84 120 39[~on4n=,L (TPN) 0.05 REH <0.0005 <0.0005
40X FHIZEY 210 180 180 250 130 500LLF 200 220 180 190 07Dy 0.001 BRE <0.00001 -

A [EAA R imESEF <0.02 <0.02 <0.02 <0.02 <0.02 02LLF <0.02 41|27 /7R A (CYAP) 0.003 X HEF| <0.00004] <0.00003
RO IARIY <0.000001] <0.000001] <0.000001] <0.000001] <0.000001 0.00001LLTF <0.000001| <0.000001] <0.000001] <0.000001 42[>Ha> (bemu) 0.02 BREF <0.0002 -
43[2-AF )LAVRIL A —)L <0.000001] <0.000001] <0.000001] <0.000001] <0.000001 0.00001LLTF <0.000001| <0.000001] <0.000001] <0.000001 43[40~ =)L (DBN) 0.03 BREH <0.0003 -
A4 JEA A R EEF <0.005 <0.005 <0.005 <0.005 <0.005 0.02LLF <0.002 <0.002 <0.002 <0.002 44(>40)LRZ (DDVP) 0.008 R HF <0.00008] <0.00008
452 /—)LEE <0.0005] <0.0005] <0.0005] <0.0005 <0.0005 0.005LLF <0.0005 45|59k 0.01 BREH <0.001] <0.00005
46| EREMZE(TOC) 0.8 0.9 0.7 0.9 <0.3 LT 1.0 1.0 0.9 0.9 0.7 0.9 0.9 0.8 0.8 0.8 0.9 1.0 462 ZILTREA(TFINFAAY) 0.005 xR <0.00004 -
47|pH{E 7.4 0.7 7.7 7.6 7.6 581 F86LLT 7.7 7.9 7.8 7.7 7.8 7.8 7.8 7.8 7.8 7.7 7.8 7.6 A[CFA DI NA— LR EE 0.004] #®=-BEX <0.00005] <0.00005
48|k BEELglL| EE4L| BEELL| EELGL] EEBLGL EEThRNCE] BELGL| EE4AL| BEE4L| EELGL] EELGL| BEEGL| ERBLGL| BEELL| BE4GL] EELGL| EE4L| EELGL 48|CFAE L 0.009 BREH <0.00009 -
IEES BEEhglL| EE4L| BEELL| EELGL] EELGL EETRNCE] BEBELGL| EE4L| BEE4L| EELGL] EELGL] BEE4GL| ERBLGL| BEELL] BE4L] EBLGL| ER4L] EELGL 49> Oy TTFIL 0.006 BREH <0.00006 -
50( <1 <1 <1 {1 0.6 S5ELLT <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 50{> <> (CAT) 0.003 BRE A <0.00004 -
51| & <0.1 <0.1 <0.1 <01 <0.1 QLT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51 [ ARAR) 0.02 BRELH <0.0002 -
52| ART—F 0.05 HEE <0.0005 <0.0005
HAZ{E (mg/L) 53| AR 0.03 BREH| <0.0003 -
HWZOFECRUVOZDIEEY <0.0015] <0.0015] <0.0015] <0.0015 <0.002 0.02LLF 54|18 A4T7 /v 0.003 HHRE <0.00004] <0.00005
2|5V RUZEDIEEY <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 0.002LL T (x2) B | 55|58 4L00 0.8 BB <0.008 <0.008
= LRUZDIEEY <0001| <0001| <oo0o01|  <0.001 0,021 F <0.002 56 ga’;;fw’f f;(fri‘;‘;_F 001| ma-ma-eEw|  <00001| <0.00002
4R FE = | 57[F7o =L 0.1 BEH <0.001 -
5[12->4/nQxTiy <0.0004] <0.0004] <0.0004] <0.0004 <0.0004 0.004LLF 58| F95.Ls 0.02 REH <0.0002] <0.00002

" 6|R FH 59|FACHILD 0.08 A E <0.0008 <0.0008

1|R FH 60| FAT7H—RAFIL 0.3 REHE <0.003 <0.003

& R IES <0.04 <0.04 <0.04 <0.04 <0.001 04LLF 61|FAR AT 0.02 REE <0.0002 -

9[THILEED (2-TF LX) <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF 62|72 ILR) AL 0.002 BEX| <0.00011  <0.00002

o | 10| BIEREE <0.06 <0.06 <0.06 <0.06 0.6LLF 63|7)LJHILT (MBPMC) 0.02 BREH <0.0002 -

=1 1x & 64|k 0OE L 0.006 BB <0.0003 -

18 12| ZBR{EIE R - - — — 06LLTF 65|k~ 0 )L (DEP) 0.005 xR <0.00005 <0.0004
13(oyoo07vk=krJ)L <0.001 <0.001 <0.001 <0.001 0.01 LA F(*2) <0.001 66|k IS5 —IL 0.1 HEF <0.001 -

g 14{f8,ko05—)L <0.002 <0.002 <0.002 <0.002 0.02L T (x2) <0.002 67|k TILSY 0.06 BREH <0.0006 <0.0006
[HEER <0.01 - - - 1LLF 68|+ 70/=K 0.03 BB <0.0003 -

= 16[% B8R 0.7 0.8 0.6 0.7 1LLF 0.53 0.51 0.46 0.53 0.43 0.44 0.47 0.59 0.51 0.57 0.55 0.49 69|/853—k 0.01 BB <0.001] <0.00005

T 17AIS O L, TR YL (FEE) 84 72 89 120 10~100 100 70[EXROkRX 0.0009 BB <0.00004 -

o |LI8[RVAVRUZEDEEEY <0.001f  <0.001f  <0.001]  <0.001 0.01LLF <0.005 nE>o0=)L 0.01 BREFI <0.0001]  <0.0001

el NP1 TS 11 9 6 14 2 20LLTF 12|IESY XL Iz 0.004 BREH <0.00004 -

= | 20[111-M)HpOOTRY <0.03 <0.03 <0.03 <0.03 <0.001 0.3LLF 713|ESY ) x—MEFYL—b) 0.02 BREH <0.0002 -

£ A FL+TF)LT—F /L (MTBE) <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF 1Al DI FAL 0.002 FEE <0.00004 -

15 22| B E (KMnO4HEE) (% 3) - — — — LT 1.0 1.0 0.9 0.9 0.7 0.9 0.9 0.8 0.8 0.8 0.9 1.0 75|EYTFHILD 0.002 BREA <0.0002 -
23| R &5 E (TON) i i i <1 <1 LT <1 A [EEES=P 0.05 REFH <0.0005 -

g 24| 7R FKREY 210 180 180 250 30~200LLF 220 771747021 0.0005 R E <0.00001] <0.000005
25| & E <0.1 <0.1 <0.1 <0.1 1ELUTF <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78|7x=rOF 4> (MEP) 0.01 B EFE <0.0001 <0.0001
26|pH1E 7.4 7.7 7.1 7.6 71552 7.7 7.9 7.8 7.7 7.8 7.8 7.8 7.8 7.8 7.7 7.8 7.6 79(2x/7/HILT (BPMC) 0.03 xR <0.0003 -
21|BEBM (S5 7IEH) - 0.9 - 0.6 - 0.6 -0.5 - 0.9 —1~0 0.0 80| LY 0.05 REH <0.0005 -
28| KEFXEME (HPC) 0 0 0 0 14 20001 0 817> F A~ (MPP) 0.006 R RE <0.00006]  <0.00006
291 1->Hoo0xFLY <0.01 <0.01 <0.01 <0.01 <0.001 0.1LLF <0.001 82|7x FT—K(PAP) 0.007 R EE <0.00007] <0.00007
0|ZIZ=ZHLRUVZDILEY 0.01 0.02 0.02 0.01 0.1LLF <0.02 83|TJx hSHEK 0.01 PR E A <0.0001 -
31|PFOSE U'PFOA( * 4) - - - - <0.000001 0.00005LL T (x2) 0.000010 84|7H 54K 0.1 HEF <0.001 -

85(7%44~0—)L 0.03 BRELF <0.0003 -
_ TR E = 86| 753X 0.02 BREA <0.0002| _ <0.0002
DVTRRRYD L KIBE BRHEINEL EXES 87|70z 0.02 R E <0.0002 -
ot EEE BREFRER OV AESR | BHShin 0 88|IINTTF L 0.03 BEH <0.0003]  <0.0003
7 E=FREE R (mg/L) — 0.36 0.70 89|JLFS54O0—)L 0.05 BREF <0.0005 -
BAAXFE 1pg—TEQ/LLLTF 0.062 90|7Os 3Ry 0.09 ZEE <0.0009 <0.0009
91| 7OF AKX 0.007 xR <0.00007]  <0.00009
* 1. FTERMGEXBEESFKGEHODKREFEREZ TR (RKAFRUIER)ELFE) 92|7oEa+Jy— 0.05 REH <0.0005 -
* 2.8 F 93[7aEH3K 0.05 BRELH <0.0005 -
*x 3: HATHH #46(TOC)THR A 94|7O~RFYy—)L 0.03 HEF <0.0003 <0.0003
* 4 :PFOS(R)LIILAOFA IR X ILRVEE) RUPFOA(RILII)LA DA HEEE) 95|JAETJFK 0.1 BREF <0.001 <0.001
96|R/3)L 0.02 REF <0.0002 <0.0002
97|Ro Oy 0.1 BREE <0.001 <0.001
98|RVEL Oy 0.09 BREH <0.0009 -
99|R Dz HvT 0.005 BREH <0.00005 -
100|Ro BV 0.2 BREH <0.002 <0.002
101[RoTaA5) Y 0.3 BB <0.003 <0.003
102|R25HILD 0.02 HEE <0.0002 <0.0002
103| R TILSY (A ADYY) 0.01 BREF <0.0001 -
104[RooLt—F 0.07 BREH <0.0007 -
105K RF7E—F 0.003 xR <0.00005 <0.0002
106|RSFA (R5UV) 0.7 HHE <0.007 <0.0005
107|270y 0.05 BREH <0.0005 <0.0005
108[AV= )L 0.03 P <0.0003 <0.0003
109[*25F L 0.2 HEF <0.002 <0.0006
110[*F & F4> (DMTP) 0.004 R E <0.00004] <0.00006
11| ARS/ZFOEY 0.04 REH <0.0004 -
112[AR) TS 0.03 BREF <0.0003 -
13| A7+ vk 0.02 BREH <0.0002 -
114[x7o=)L 0.1 BEH <0.001 -
115|E) R—k 0.005 BRELF <0.00005 -




